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#Q. Area enclosed between the curves|y| = 1 — x? and/;2 -+ yzzjis (r — a)sq.

units, then 9a is 9. N
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#Q. Two points (4,2) and (0,2) lie on the circle whose centre lies on
(3x +2y+4+2 = O)then_length of chord whose mid-pointis (1,2), is
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#Q. If a, B are the values of m where

Cx+y+Zz=1
X+2y+4z=m

Cr+ 4y + 8z = m? have infinitely many solutions. Then Y12, (n® + nf)
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#Q. The value of [# (sin ‘(4x — g)‘ + sin [335]) dx is (where [-] denotes the greatest
Integer function) ~"~——"""
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#Q. If the domain of log@( ) is (a, ) and logs(18x — x* — 77) is (B,y),

x2—4x+5
then the value of a? + B2 + y? is
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#Q. Let f(x) = f: t(t?> — 3t + 20)dt, x € (1,3) and range of f(x)is (a,B), then a + B

IS equal to

P 4(3)——f3( ) 1t

l’%’__-??—fﬁ‘o
= 3%1_+63
“tf= %—Hz
= IR s
N
- 33 _ 3
2‘|’63— S

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



9 JEE MAIN 2025 » uve PAPER DISCUSSION

Ans. (B)

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



#Q. The value of the limit

lir%(cosec x) (\/Zcoszx + 3cos x —\/cos?x + sin x + 4) is
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#Q. Let the line L be x;1 = y;4 = 2;7 and foot of perpendicular fromto

Lis (a,B,y),thena+ B +yis o % — Yo

>l _ 4ot =2 0D 43 (2 4s5(-1-D)

—

Q_ﬂ/ ( | > "~ 7S [+9 +2 5
35 ' - _
S U e W SR 1

e 69 S S 1

35

102 XtHJ+-12 . _xq '
G 35 — c\ - T3S NQ_ >
02 st

35 ;&_l_, — 2_

)+Z = | 35

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



9 JEE MAIN 2025 » uve PAPER DISCUSSION

Ans. (A)

CVPS INTEGRATED STAR COURSE, MEERUT FOR MORE DETAILS CONTACT +91 9997000558



¥ JEE MAIN 2025 » ive PAPER DISCUSSION

#Q. If the set of exhaustive values of a for which the equation 2x* + (a — 5)x +
15 = 3a hano real roots is (a, B),then |4(a + B)| is equal to
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#Q. aq,a,,as,...,A02024 arein A.P
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#Q. Let a; = (\/E)H],A - [aij]gxg If sum of third row of A% is « + V2 ,then a + B is
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#Q. If 3197 is divided by 23, then remainder is
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#Q. If the letter of the word “KANPUR?” are arranged in dictionary, then the
word IS

A)KJ\/}?RU !
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